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Directions

The following eight (8) items consist of two
statements, Statement [ and Statement II.
You are to examine these two statements
carefully and select the answers to these
iterns using the code given below :

Code :

{a) Both the statements are
individually true and
Statement II is the correct
explanation of Statement I

(b) Both the statements are
individually true but
Statement Il is not the correct
explanation of Statement I

fc/ Statement I is true but
Statement II is false

(d) Statement 1 is false but
Statement II is true

1. Statement [ :

The principle of correspondence as
defined by Urwick implies that
authority and responsibility of a
functionary must be coequal.

Statement II :

Assignment of responsibility to a
functionary need not always carry
commensurate authority.

2. Statement I :

All bureaucratic organizations are
hierarchically organized.

Statement II :

The principle of hierarchy serves
as an effective tool for ensuring
smooth communication, coordina-
tion, supervision and control
within an organization.
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3. Statement ! :

‘Publicness’ in Public Administra-
tion is a complex-structured
concept.

Statement I :

Public  Administration  differs
from private administration with
regard to at least three major
dimensions—locus (agency), focus
(public interest} and access
(openness).

4, Statemnent I :

Almost all the States in USA are
required by law to balance their
budgets each year.

Statement 11 :

Frustrated by the growing deficit
budgets, the US Congress
committed an act of extraordinary
rarity : it increased the budget-
making power of the President
by enacting the Line Item Veto Act
of 1996.

5. Statement I :

Usually a vote on account is
discussed in detail and voted upon
by the Parliament.

Statement 11 :

A vote an account empowers the
Lok Sabha to make a grant in
advance for a part of the financial
year pending completion of the
budgetary process.
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6. Statement I :

A public corporation in India is a
statutory entity.

Statement I1 :

A public corporation is financed by
annual appropriations from the
Treasury.

7. Statement 1 :

The Weberian model of
bureaucracy is undoubtcdly less
relevant to public administration
today than it used to bc in the
past.

Statement 11 ;

New Public Management approach
challenges and replaces the
Weberian bureaucratic model.

8. Statement I :

Traditional literatures on public
administration suggested that an
organization should have a narrow
span of control, if orders were to
be communicated and carried out
effectively.

Statement 11 ;

Simon argued that every principle
in the traditional literature had a
counter-principle. If organizations
were to maximize  effective
communication, thereby enhancing
responsiveness and control, there
should be a flat hierarchical
structure.
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9. Why is M. P. Follett’s concept of -
‘Constructive Conflict’ considered
innovative?

1. It rejects the conventional view
of conflict, which is considered
mtrinsically bad for an
organization,

2. It views organizational conflicts
as natural and unavoidable,

3. While rejecting the earlier

methods, she advocates
conflict resolution through
integration,

Select the correct answer using the
code given below :

Code :

fa) 1 and 2 only
(b} 2 and 3 only
{cj 1,2 and 3
{d) 1 and 3 only

10. Consider the following significant
landmarks towards decentralization

in India :

1. Report of Montagu-
Chelmsford on Constitutional
Reforms

2. Royal Commission on
Decentralization

3. Ripon’s Resolution on Local
Self-Government

4. Report of Balwantrai Mchta
Committee

Which one of the following is the
correct chronological order of the

above?

fa) 3-1-2-4
(b} 4-1-3-2
{c} 2-3-4-1
fd) 3-2-1-4
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Which one of the following
statements is not true regarding
Scientific Management Movement
in public administration?

{a) Both Frederick Taylor and
Henri Fayol contributed to the
corpus of ideas called Scientific
Management

{b} While Taylor concentrated on
shop  management, Fayol
focused his analysis on
functions of the top
management

fc) While Fayol advocated the
14 principles of management,
Taylor firmly believed that
management of work is a true
science based on one best way
of doing things

(d) While Taylor had been
concerned with the pedagogy
of management, Fayol in

contrast, focused on the micro-
processes of work

12. Which one of the following is not

true with regard to the Report
of 2nd Administrative Reforms
Commission regarding training of
higher Civil Services in India?

faj The practice of having a
Common Foundation Course
for all Group ‘A’ Services may
continue

fb) Successful completion of
training be made mandatory
for promotions

{c} Eminent experts be included
on governing bodies of national
training institutes

{d} A new national training policy
be framed
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13. Which one of the following is the .

foundational basis of Public Choice
Theory?

fa)j Methodological individualism
{b) Neo-liberal cosmopolitanism

{c) Critique of Marxist class
contradiction

{d) Political rationality

14, Why did Gulick and Urwick prefer

administrative departments hcaded
by single top executive (bureau
system) to administrative units
headed by plural bodies like
boards/committees?

1. In their view, committees are
cumbersome and wasteful.

2. They were influenced by the
Report of the US President’s
Committee on Administrative
Management,

3. They found that higher-level
administrators almost always
head  conspicuously  well-
managed administrative units.

4, Collective wisdom, in their
view, facilitates taking sound
administrative decisions.

Sclect the correct answer using the
code given below :

Code :

fa} 1 and 2 only
(b} 2 and 3 only
fe} 1, 2 and 3

{d) 1,3 and 4
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15. In which of the following circum-

stances,

courts are debarred

to interfere in electoral matters?

1.
2.

4.

Delimitation of constituencies

Allotment of
constituencies

seats to the

Election petition presented to
appropriate authority provided
under the law

Election results

Select the correct answer using the
cade given below :

Code :

(a)
(b)
fc)
()

1, 2, 3 and 4
2 and 3 only
1 and 4 only

1, 2 and 3 only

16. A Money Bill deals with

1.

abolition and regulation of any
tax

giving any guarantee by the
Government of India for
barrowing of money

custody of Public Account

withdrawal of money from
Contingency Fund of India

Select the correct answer using the
code given below :

Code :

(@)
(b)
fc)
()

1 and 2 only
1,2, 3 and 4
1, 2 and 4 only

3 and 4 only
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17. Which one of the following is not
true of the attributes of New Public
Administration?

(a)

{b)

(c)

(d)

Bascd on normative political
theory

Administration with social

concerns, humanism, par-
ticipation and democracy/
decentralization

Scientism  and fact-valuc
separation
Emphasis on the ethical
dimension of public
administration

18. Which one of the following

statements is not correct regarding
the State vs. Market debate?

()

(b)

fc}

(d)

State and Market are two
sovereign independent entities

State and Market function in
complementary relationship

Although Market is self-
regulatory, crisis. situations
invite intervention by the State

Imperfection of either State or
Market would reflcet on the
efficacy of the other
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19. Which of the following powers does
the President of India assume
during the Proclamation of
Emergency?

1. He can issue directions to any
State.

2. He has the right to alter or
amend distribution pattern of
financial resources between
the Union and States.

3. He can extend the life of the
Lok Sabha by 6 months at a
time.

4, He can empower the

Parliament to frame laws on
the subjects under List II.

Select the correct answer using the
code given below :

Code :

fa) 1 and 4 only
(b) 2, 3 and 4
fc/ 1,2 and 4
(dj 1 and 2 only

20. The President is recommended by
the Finance Commission as to the

1. distribution of net proceeds of
taxes between the Union and
States

2. principles governing grants-in-
aid of the revenues of States
out of Contingency Fund of
India

3. measures to augment
Consolidated Fund of a State
to supplement resources of
Municipalities

4. measures to augment
Consolidated Fund of a State
to supplement resources of
Panchayats

N-DTQ-K-RWC/4A
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Select the correct answer using the
code given below :

Code :

fa) 1,2 and 3
(b) 1, 3 and 4
fc; 1 and 4 only

(d) 3 and 4 only

21. Which of the following are within the

mandate of the 73rd Amendment to
the Constitution of India?

1. Disqualification provision for
Panchayat membership

2, Setting up of a State Finance
Commission

3. Empower the State Election
Commission to hold periodic
local government elections

4. Constitution of a District
Planning Committee

Select the correct answer using the
code given below :

Code :

(@) 1,2 and 4
(b} 2 and 3 only
fc) 1 and 3 only

(d} 1,2 and 3




19, frfafas & @ «wm-H o, sa =
qEufy SATEeR 1 IGEEN F QA

T Ll 37
1, e fedl oft Tew = Ry sl =
qehdl B

2. &g 9 T U % A9 fasfm
warEl & faam R # ufeds ar
YA O F AT @ g

3. 98 UF G § @ 99 & FEee §
: HER w1 faan X ghar 1

4. @ g 1 % fRwE w gwg # R
TR ! 9% wTE = g g

R T T g T OWEE W EE W
EELE

e
(@) A 13 4
(b) 2, 33N 4
fc) 1,234
(d) Faa 132

20. e smam ggafa = fawf = &

1. @ It ws % e w F yE
3t & fomwon & &t i

2. WG & e Pify § @ ol &
o # WERE AgEE W Wt
F T gt AR 3

3. Tl & WA & TR &
fau =y dfm Py % smedn &
Jardt % R 7

4. UETEEl % HEIYAT % AP F A
T wfva Py & s & 3o &
an #

N-DTQ-K-RWC/4A

11

H9 fog M we F oW W A IR
e

e

(@) 1,23M3
(b) 1,334
(c) Fa@ 1 34

(d) Fad 3 3R 4

21. Frfefea # 4 :9-¥ wa F R &

733 Gt % AR & =i 87

1. Y9md weEa & fou fEmm
I

2. Us4 a7 i s

3. W fafas s = g e
F amafis Fates o & ofs

4, Tren Asmn wfafy < wea

M Ry M F w oyEM W wE IW
EGLE

%2 .

(@) 1,23ﬁi4
(b) e 2 33
cj FaA 133

(d) 1,233

[P.T.O.




22, In comparative public administra-
tion, there is

1. search for a theory of public
administration

2. practical application of
knowledge

3. comparative analysis of
ongoing problems of public
administration

4. neglect of cultural factors from
comparative analysis of admin-
istrative systems

Select the correct answer using the
code given below :

Code :

faj 1, 2 and 3
fb} 2 and 3 only
{c/ 1 and 3 only
(d) 1,2 and 4

23. According to Fred W. Riggs,
Development Administration
involves an egg-chicken type of
relationship between two major
factors. They are

fa) politics and administration

fb) administration of development,
and law and order

{c) administration of development
and development of adminis-

tration

{d} agrana and industria
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24. Who of the following is not appointed -
by the Governor?

fa) State Council of Ministers
{b) State Advocate Gceneral
{c} State Director General of Police

(d) Members of Statc Public
Service Commissions

25. The New Public Administration
approach is the offshoot of the

(a) TFirst Minnowbrook Conference

(b} Second Minnowbrook
Conference

{c) writings of Ferrel Heady and
Sybil L. Stokes

(d) theory of prismatic society
coined by Fred W. Riggs

26. The paradigm shift towards
liberalization, privatization and
globalization in public policy has
spawned the

1. New  Public Management
appreach

2. rejection of the administrative
state

3. reliance on public choice-
based approach

4. bureaucratic expansion

Select the correct answer using the
code given below :

Code ;

faj 1 and 2 only
(b} 2 and 3 only
fcj 1,2 and 3
{dj 3 and 4
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27. Consider the following statements
regarding Maslow’s theory of
motivation :

1. Human needs are not
watertight compartments, but
relative,

2. Human needs occur in
clusters.

3. Self-actualization nceds are of
topmost importance all the
time.

4. The emergence of human
needs is gradual.

Which of the statements given
above is/are correct?

fa) 1, 2 and 4
(b) 2 and 3
{c) 4 only

{d) 1 and 4 only

28. Which one of the following is not a
characteristic of Weber’s theory of
bureaucracy?

(a) Distribution of activities in a
random way

(b} Written documents
(¢) Fixed jurisdictional arena

{d) Authority to give commands

N-DTQ-K-RWC/4A
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29. Unlike other classical writers,

Frederick Taylor was mainly
interested in

(a) overall organizational problems

(b} problems arising out of
mechanization of the work
setting

{c)] practical problems of efficiency
{d} changing context of capitalism

30. Which among the following is/are

the main emphasis/emphases
of the (classical theory of
organization?

1. Design and rules

2. Behaviour and motivation

3. Deduction rather than
induction

4. Prescribed relationships among
assigned responsibilitics

Select the correct answer using the
code given below :

Code :
(a} 1 only
(b} 2 and 3

fc/ 1 and 4 only
({d} 1,3 and 4

31. According to Elton Mayo, a worker’s

performance is primarily related to
fa) interactive setting in an
organization

(b} the worker’s personality
variables

{c) technology and tools made
available to the worker

{d) socially acquired attitudes of
the worker in the post and
outside the factory
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32. Consider the following statements

with regard to Citizens’ Charter :

1. The idea of Citizens' Charter
had evolved in Britain as a
part of neo-liberal ethics.

.2, It was articulated by John

Major.

3. It contains demands of factory
workers,

4. It has elements of class
hegemony.

Which of the statements given
above is/are correct?

fa) 1 and 2 only
(b) 2 and 3

{c/ 1,2 and 4
{d) 1 only

33. Match List-I with List-II and select

A.

the correct answer using the code
given below the Lists :

List-I List-II
(Characteristic) (Leadership
Theory/Model)
Perscnality 1. Three-
characteristics dimensional
theory
What leaders do 2. Behavioural
theory
Leadership is 3. Decision-
multidimen- participation
sipnal model

Continuum from 4.
authoritarian to
consultative

Trait theory

5. Situational
theory

N-DTQ-K-RWC/4A
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Code :

fa] A B C D
4 2 5 3

b) A B C D
4 3 1 5

fc) A B C D
5 4 3 2

{d} A B C D
3 1 2 5

34. Which of the following statements

reflect the views of Frederick

Taylor?

1. An industrial organization
is governed by definite
regularities and laws.

2. Deregulation of various

activities and other factors of
production is necessary.

3. A radical separation between
planning and performance of
the work is essential.

4. Management has to bear
the main responsibility for
transforming an organization.

Sclect the correct answer using the
code given below :

Code

{a) 1 and 3 only
(b} 2, 3 and 4
fc) 1 and 4 only

{dl 1,3 and 4
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35. Consider the following statements 37. The

Commission : 1

1. The 13th Finance Commission

2
was mandated to take stock of
the arrangements regarding 3.
financing of disaster 4

2. The 13th Finance Commission
highlighted the likely impact

Goods and Services Tax Act,

fa) 1,2, 3 and 4 1.
() 3 and 4 only 2.
fcj 1, 2 and 3 only 3.

{d) 1 and 2 only

most dominant in the writings of

{a) Christopher Hood {a)
(b) Ferrel Heady (bj
fc) Vincent Ostrom {c)
(d) Dwight Waldo {d)

N-DTQ-K-RWC/4A

with regard to the Finance Government are responsible for

management with regard to the concerned  on  technical
National Calamity Contingency matters

Fund and the Calamity Relief

Fund. Select the correct answer using the

code given below:

of the implementation of the Code :

3. The recommendations of the fa) 1 and 2
Finance Commissions cover a
period of five years. (6) 3 only
4. The Reports of the Finance {¢) 3 and 4 only
Commission are submitted to .
the Prime Minister. (d 2, 3 and 4
Which of the statements given
above are correct? 38. Consider the following statements on

Tine-item’ budget :

. expenditure.

36. Anti-bureaucratic approach was Which of the statements given
above are cormrect?

Directorates in a  State

policy formulation
provision of staff inputs
policy implementation

rendering advice to Ministries

It is a British legacy.

It is oriented to a system of
checks and counterchecks.

It facilitates decentralization.

It is aimed at rigid control over

1, 2 and 4
2 and 4 only
1 and 2 only

1, 3 and 4
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39. Which of the following are the

observations of the Brownlow
Committee  with  regard to
the Independent Regulatory

Commissions (IRCs) of USA?

1. The IRCs would be better off,
if Congressional control over
them is strengthened.

2. They enjoy power without
responsibility,

3. They should be converted into
adjudicatory boards inside the
departments.

4. They are an outstanding
development in the American
federal government.

Select the correct answer using the
code given below :

Code :

faj 1 and 2 only
(b) 1, 2 and 3 only
{c¢) 3 and 4 only

(d) 1,2, 3 and 4

40. Which one of the following is the first

orthodoxy of Public Administration
that gave birth to the discipline of
Public Administration?

{a) Public-private dichotomy

(b) Politics-administration
dichotomy

(c) Political science-management
science dichotomy

(d) Political science-public adminis-
tration dichotomy

N-DTQ-K-RWC/4A
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41. Decentralization in the form of

deconcentration is not truly
decentralization, because it

1. is intra-organizational

2. is merely a devolution of
powers

3. involves physical shifting of
some central activities to a
different space

4. decentres the administration,
not the government

Select the correct answer using the
code given below :

Code

{aj 1 and 4 only
() 1, 3 and 4 only
{c} 3 only

(d) 1,2, 3 and 4
E

42. Dwight Waldo and Herbert Simon

challenged politics-administration
dichotomy for different reasons.
Which one of the following reasons
may be attributed to Waldo?

fa) It is difficult to wunbundle
politics from administration
and vice versa

(b} Administrative decisions
involved questions of facts
as well as of valucs

(¢} Politics-administration formula
was an attempt on the part of
the public administration to
fulfil the demarcation of
administrative jurisdiction

(d) Administration is what the
administrators do, just as
politics is what the politicians
do
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43. Which one of the following is not
related to New Public Management

(NPM) orientation in  public
administration?
fa} NPM’s focus is on outcomes,

rather than inputs

(b} NPM’s explanatory targets are
efficiency and customer
satisfaction

(c) NPM is essentially a new brand
of organization theory

{d) NPM acknowledges the unique
cultural and political role of
public goods and the public

_sector

44. Consider the following paragraph :

It is this school of intensive work in
the realities of administration that
equips an assembly to be a selecting
ground, not for mere demagogues
but for effective politicians with a
grasp of reality of which the English
Parliament is the supreme example.
Only this kind of relationship
between officials and professional
politicians generates the continuous
control of the admunistration and
through this the political education of
both leaders and led.

{Max Weber)

In the above paragraph, Weber
formulated a normative principle to
govern the relationship between the
bureaucrats and the politicians.
Which of the following is/are the
basic principle(s) identified here?

1. Effective politicians need to
intervene regularly in the
realities of administration.

N-DTQ-K-RWC/4A
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2. The Parliamentary system-
creates opportunities for the
political education for all—the

politicians as well as the
bureaucrats.
3. Control over administration

has to be a continuous process
to be engaged in by the
politicians.

Select the correct answer using the
code given below :

Code : «

fa} 2 only

fb) 2 and 3 only

fc 1 and 3 only .
fdj 1,2 and 3

45. The most widely used model of
the communication process that
evolved from the work of Shannon,
Weaver and Schramm includes the
following :

Source

Receiver

Encoder

Decoder

Message Channel
Feedback

Noise

No ok b~

Which one of the following is the
proper sequence of the above?

(a) 1-3-5-6-7-2-4
{b)
() 2-4-5-6-7-1-3

1-3-5-4-2-6-7

(d) 3-4-2-6-7-5-1
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46. Which of the following conditions
is/are necessary for undertaking
the exercise of Performance
Budgeting?

1. Advance  programming of
government operations on a
short-term basis

2. End results of the programme
must be measurable

3. Total outlay must be capable of
allocation between fixed and
variable costs

4. Budget should provide for the
entire project cost from a
long-term point of view

Select the correct answer using the
code given below :

Code :

fa) 1, 2 and 4
{b) 2, 3 and 4
fc) 3 only

fd] 2 and 3 only

47. Which one of the following
perspectives is owed to Max Weber
in his formulation of contrasting
ethics?

{a} Personal ethics
(b} Ethics of responsibility

(c} Situational ethics

(d) Regime values
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48. Why did James Moonecy describe the -

principle of Coordination as the
first principle of organization?

1. It is an all-inclusive principle
which provides unity of action.

2. It cxpresses unity of action in
pursuit of a common purpose.

3. It contains devices for
distribution of authority.

4. It makes leadership imperative.

Select the correct answer using the

.code given below :

Code :

faj 1, 2 and 4 only
(b} 1 and 3 only
fc) 2 and 4 only
{dl 1,2, 3 and 4

-

49, What are the rationales behind the

principle of Supervision in public
administration?

1. It is an extension of the
leadership function.

2. It involves the function of

direction and  guidance to
subordinates.

3. It facilitates coordination of
work.

4, It is the principal means to
identify errant workers.

Select the correct answer using the

code given below ;

Code ;

fa} 1 and 2 only
fb) 1 and 3 only
fc} 3 and 4

(dj 1,2 and 3
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50. Which one of the following is not
a function of a State Finance
Commission?

{a) Determination of taxes, duties
and tolls which may be
assigned to Panchayats

(b} Grant-in-aid to Panchayats
from Consolidated Fund of the
Union Government

(c/ Measures to improve financial
positicn of Panchayats

Distribution of the net
proceeds of fces leviable by the
State between the State and
Panchayats

51. The Metropolitan Planning
Committee while preparing the
draft plan has to give due regard to

1. matters of common interest
between Municipalities and
Panchayats

overall objectives and priorities
set by the Union Government

plans prepared by Panchayats
in Metropolitan areas

contingent circumstances
emerging out of natural
calamities

Select the correct answer using the
code given below

Code :

@) 1,2, 3 and 4
{b) 2 and 4 only
{c¢/ 1 and 3 only

(d] 1, 2 and 3 only

N-DTQ-K-RWC/4A

52. Which one of the following agencics .
does not have statutory oversight
over public expenditure?

(a) The Parliament

™

(b} The Planning Commission

{c) The Comptroller and Auditor
General

The Finance Ministry

53. As per the Sixth Schedule to the
Constitution of India, the rules for
the first constitution of District and
Regional Councils are prepared by

(a) the Ministry of Home,
Government of India

the Chief  Minister in
consultation with existing
tribal councils or other
representative tribal organi-
zations of the region

*

the Governor in consultation
with existing tribal councils
or other representative tribal
organizations of the region

the State Legislature
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54. Match List-1 with List-1I and select 55. Which onc of the following does not

the correct answer using the code figure in bureaucratic forms as
given below the Lists : suggested by Merle Fainsod?
List-I List-II {a) Rcpresentative bureaucracics
(Feature} {Theory)
(b) State party bureaucracics
A. Internal 1. New public
accountability management ¢} Neutral bureaucracies
B. Self-serving 2. Taylorism fd) Military-dominated
bureaucracy bureaucracies
C. Efficiency, 3. Public choice
economy and theory 56. The paradigm of Teversals’ mooted
effectiveness by Robert Chambers in the context |
of development management
D. Efficiency and 4. Max Weber’s includes
economy bureaucratic 1. spatial reversals
theory _
2. reversals in professional values
and preferences
Code - 3. reversals in specialization

4. management reversals

v Select the correct answer using the

(e) A ? € 2D code given below :

a 1
Code :
) A B C D ¢
1 2 3 4

(@) 1, 2 and 3 only
A B D
(el 5 c . (b) 2 and 4 only

f¢) 1 and 3 only
{d) A B

C D
3 2
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(d) 1,2, 3 and 4




sa. 1 @ - @ gitw ART o 5. Al § 3 S-a T A g

TR % R R g2 w1 W R wE ToR ™ fww B e § whe
I g ; | (34 '
(o) Shefs Al
-1 ' g1 , |
(wieror) (Rrgma) (b) TG T Arvanfeat

: , (c) dZ%Y HrewtenfEai
A. INE S9EeE 1. 9 @i gy

(d) &= gy el it

B. @I-gdt e 2. oErR
C. zagm, frmfa 3. S fawew R 56, T yora ¥ gl # Uad < & gW
T Wi =t s 1 Ryt wwEeh # iR
" :
D. e T faeaia 4. Ao A9 1. e famafa
' Hetad R 2. wEERE gl @ st #
fawate
3. e # fawaig
CowE: 4. Iy faoEE
@ A B C D 2 Ry T oF W oW WA IW
4 3 1 2 EELE
2
) A~ B C D ,
' ? ° * (a) 9@ 1, 2 3 3
) A B C D (b) Fa@ 2 L 4
1 3 2 4
{c) Faw 133
d A B C D
4 1 3 2 (d) 1,2, 334
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57. Civil society’s contribution to ‘good 59.

governance’ has in recent times
been  highlighted in  Robert
Putnam’s research work on ‘social
capital’ which stands for

1. social cohesion
2. democratization
3. civic ethos
4

network of primary
associations

Select the correct answer using the
code given below :

Code :

{a} 1 and 3 only
(b) 3 and 4 only
{¢/ 1, 3 and 4
{d 2 and 4

58. The First Administrative Reforms
Commission recommended grada-
tions when writing the confidential
reports of secretariat officers of the
level of Under Secretary and above.
Which one of the following
gradations was not included in
their recommendations?

(a) Fit for promotion’

(b) ‘To be sent for training before
promotion’

fc} ‘Unfit for promotion’

(d) ‘Not yet fit for promotion’
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60.

Bridging ‘fiscal deficit’ is a major
problem- in governmental
budgeting. This is sought to be
solved through

1. market borrowing

2. selling of government
securities

3. tapping deposit funds like
provident fund and small
savings schemes

Select the correct answer using the
code given below

Code ;

faj 1, 2 and 3
(b} 2 and 3 only
fc 1 and 3 only

(dj 1 only

In conceptualizing the motivations of
the bureaucrats, Anthony Downs’
classification of  bureaucratic
personalities has shed new light
on the realities of bureaucratic
performance. His typology includes

1. ‘Climbers’

2. ‘'Conservers’
3. ‘Politicians’
4, ‘Statesman’

Select the correct answer using the
code given below :

Code :

@) 1,2, 3 and 4
(b} 2 and 4 only.
{¢/ 1 and 3 only
fd} 1, 2 and 4 only
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61. Citizens’ Charter is framed on the
principles of

1.

co-management of civic
services with citizens’
participation in administration
assured time-bound quality/
quantity of services

simplified  procedures for
receipt of complaints and their
quick redressal

provision of performance
scrutiny with citizens’

involvement

Select the correct answer using the
code given below

Code :

(a)

1, 2 and 3

(b) 2, 3 and 4

(c)

1, 3 and 4

{d) 2 and 4 only

62. Which of the following form part of
Amitai Etzioni’s classification of
control structures?

1.
2,
3.
4,

Utilitarian
Normative
Passive

Coercive

Select the correct answer using the
code given below :

Code :

fa) 1 and 2 only
(b} 2 and 4 only
(c/ 1,2 and 4
{d) 1, 3 and 4

N-DTQ-K-RWC/4A
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63. Which of the following metaphors
is/are part(s) of the organization

. change

models  formulated in

interactions with environment?

1.

2
3.
4

Biological metaphor
Rational metaphor
Political metaphor

Public choice metaphor

Sclect the correct answer using the
code given below :

Code :

(a)
(b}
fc)
(d)

1, 2 and 3 only
2 and 3 only
1 only

1,2, 3 and 4

64. Which one of the following correctly

conceptualizes

the concept of

‘functional foremanship™

{a)

(b)

fc)

{d)

Each employee reporting to his
immediate boss in the line of
command

Each employee reporting to
different superiors (leaders) for
different aspects of his work

One foreman responsible for
many functions at the shop
level

Opposite of the principle of
multiplicity of command
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65. According to
undertakings—large or
industriai,
religious or others have to perform
certain common activities. These

Henri Fayol, all
small,
commercial, political,

are

(a)

executive, legislative, judicial
and public relation functions

(b)

financial, accounting, control-
ling, planning and evaluation
functions

{c) planning, organizing,
commanding, controlling and
coordination functions

technical, commercial,
financial, security, accounting
and managerial functions

(d)

66. The concept of hierarchy implies
1. the formal structuring of the

line of  authority and
responsibility in an
organization from top to
bottom

2. superior-subordinate relation-
ship amongst employees of an
organization

3. an arrangement of all the
members of an organization
in - a pyramidal form for
facilitating discipline, control
and coordination

Select the correct answer using the
code given below :

Code :

{a) 1 and 2 only
(b) 2 and 3 only
{c) 3 only

(d) 1, 2 and 3

N-DTQ-K-RWC/f4A
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67. Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-I
(Type of

Accountability)

A. Hierarchical

B. Legal

C. Professional

D. Political

Code :

fa) A

(b} A

d} A

w mw

w0

WO

List~IT
(Behavioural
Expectation)

Responsible to
key external
stakeholders

Obedience to
organizational
directions

Compliance
with
institutional
and regulatory
mandates

Deference to
individual
judgment and
expertise.

Ao

N g
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68. Who of the following is not a part of
the Committee that recommends
the appointment of the Chief
Information Commissioner to the
President?

{aj The Prime Minister

(b) The leader of the opposition in
the Lok Sabha

(c/ The Chief Justice of the
Supreme Court

{d) A Union Cabinet Minister,
nominated by the Prime
Minister

69. Which one of the following is correct
with respect to the Right to
Information Act, 20057

(@) Information relating to Cabinet
Papers including records of
deliberations of the Council of
Ministers are provided

{b) An applicant making request
for information is not required
to give any reason for the same

fc¢} Only an institution or an
organization can make a
request for information

{d) A non-citizen can make a
request for information

N-DTQ-K-RWC/4A
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70. Promotion in the Japanesc Civil

Service depends on

1.  seniority

2. managerial ability
3. ncgotiating skills
4

professional excellence with
demonstrable ability to draft
legislation

Select the correct answer using the
code given below :

Code :

fa) 1 only
(b) 2 and 3 only
{c) 1,2 and 3 only

{d) 1,2, 3 and 4

71. The Masterman Committee of Britain

deals with

{a) service conditions of civil
servants

(b} political activities of civil
servants

fc) functioning of Whitley Councils

{d) None of the above
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72. In the Council-Manager form of city
government of USA, the Mayor used
to be a ceremonial head. The
current trend, however, is towards
directly elected full-time Mayor
having greater control over city
bureaucracy. Due to these
structural changes, the Council-
Manager cities are now called

fa) Strong-Mayor cities
(b} Adapted cities
{c) Mayor-Council cities
(d) Manager-Council cities

73. Sherry Arnstein’s classic paper,
‘A Ladder of Citizen Participation’
presents a typology of eight levels
of participation grouped into a
number of discrete clusters. Which

of the following are the correct
clusters as identified by him?

1. Non-participation
2. Tokenism

3. Citizen power
4

Incremental participation

Select the correct answer using the
code given below :

Code .

fa 1,3 and 4
(b) 1, 2 and 3
{¢/) 2 and 3 only

{d) 1 and 2 only

N-DTQ-K-RWC/4A
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74. Which of the following is/are correct

with regard to the US Civil Service?

1. Higher Civil Service is both
specialist and generalist.

2. Professionals serve as Bureau
Chiefs,

3. Bureaucracy is fragmented.

4, Civil servants do not have the
right to organize unions.

Select the correct answer using the
code given below

Code :

{a) 2 only
(b} 1 and 4
f¢) 2 and 3

{d) 3 and 4

75. Which one of the following is not a

feature of Ashok Mehta Committee
recommendations on Panchayati
Raj Institutions {PRIs)?

(a) Constitutional recognition to
the PRIs

(b) Non-involvement of political
parties in elections to the PRIs

fc) Reservation of seats for SCs
and STs

(d} A Minister in charge of
Panchayati Raj
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76. Which of the following are true, of
New Public Administration?

1. It is client-oriented and
concerned with social equity,

2. It is an outcome of
globalization.

3. It decreases the role and
importance of bureaucracy.

4, -It is supportive of innovation
and change.

Select the correct answer using the
code given below :

Code :

(a} 1 and 3 only
(b) 3 and 4 only
¢/ 1,2 and 4
(d 1,3 and 4

77. Which of the following statements
is/are correct?

1. The Vice-Minister (Administra-
tive] in Japan is a civil servant.

2. A French bureaucrat is more a
public servant than a public
official.

3. ~American civil servants at the
top level can be political
appointees.

Select the correct answer using the
code given below :

Code :

fa) 1 and 2
(b) 1 only
fc) 3 only
dj 1 and 3

N-DTQ-K-RWC/4A
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In> American contéxt, Nicholas

Henry observes . that “Public
Administration is the device used
to reconcile burecaucracy with
democracy”. Which of the following
truly reflect his observation?

1. A superior understanding of
government and its relation-
ship with the society it governs

. :

2. Encouragement to  public
policies to be more responsible
to the social needs

3. Conscious planning to
overcome the constraints of
tradition upon the functioning
of government

P

4. Institution , of managerial
policies attuned to cffcctive-
ness, efficiency and require-
ments of the citizenry

Select the correct answer using the
code given below :

Code :

{a) 1,2 and 3
(b} 2 and 4 only
() 1,2 and 4

fd} 1, 3 and 4
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79. Which one among the following
recommendations of Satish
Chandra Committece for recruitment
to higher Civil Services did the
Government accept?

fa) The number of attempts for
candidates belonging to SC
and ST be limited to six

() The age limit for general
candidates may be limited to
21-26 years

{¢} De-linking of Seven Central -

Group ‘A’ Services and Eight
Central Group ‘B’ Services
from Combined Civil Service

(d) Total marks of interview test be
increased from 250 to 300

80. Which of the following statements
isfare correct in respect of New
Public Administration?

1. It is a philosophical movement
of the 1970s.

2. It clevates techniques over
values.

3. It focuses on issues of social
equity and scocial change.

4. It is basically normative,

Select the correct answer using the
code given below :

Code :

@@ 1,2, 3 and 4
(b) 1, 3 and 4 only
{c) 1 and 3 only

{d} 4 only

N-DTQ-K-RWC/4A
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-81, Which one of the following

statements is not correct regarding
the changing role of the District
Collector after independence?

(a)} The Collector is vested with
powers under various Central
and State laws either by
express provisions' or by
delegation

(b) The emergence of several
technical departments at the
district level under the State
has reduced the Collector’s
authority

{c¢/ Even in times of natural
calamities, the Collector’s
supremacy .no longer prevails

(d) The Collector’s role in rural
devclopment is affected by his
relationship with the Zila
Parishad

82. In employer-employee relationship,
~ Whitleyism stands for

1. joint consultative machincry
between the government and
_its employees

2. a forum for free discussion
and redressal of individual
grievances

3. a form = of compulsory
arbitration

Select the correct answer using the
code given below :

Code :

fa) 1 and 2

(b} 1 only
fcj 2 and 3
(d) 2 only
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83. A number of streams run through
the ‘Open Model’ of organization
theory’s overarching framework.
Which one of the following falls
outside this typology of streams?

fa} Administrative or generic
management

{b) Organization development
{cj). Human relations school

(d) Organization-environment
' interaction

84. Which of the following are the
features of the Fused model of
Fred Riggs?

1. Particularism

.2. Attainment

3. Ascriptive values

4. Functionally diffuse
Select the correct answer using the
code given below :
Code :.

(@) 1 and 3 only

(b) 3 and 4 5nly

fc 1,3 and 4

{d) 1,2 and 4

85. Which of the following is/are true
with respect to the Public Accounts
Committee?

1. Its work is based solely on the
audit reports of the CAG.

2. It examines the accounts of
the Government of India for
appropriations made by the
Lok Sabha.

3. It examines the accounts
of autonomous and semi-
autonomous bodies.

N-DTQ-K-RWC/4A
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Select the correct answer using the
code given below :

Code :

(@ 1, 2 and 3

(b} 2 and 3 only

fc) 1 and 2 only

{d) 3 only

86. As per Hérbcrt Simon, which one of

the following is the correct order of
the three key activities that are
central to decision-making?

(e} Choice-design-intelligence

. {b} Planning—choice—design

fe) Intelligence—design-choice
(d} Intelligence—choice—design

87. Which of the following are the

contributions of Comparative
Administration Group in the
development of public adminis-
tration?

1. It facilitated cross-cultural
research relevant to public
administration.

2. It enriched the literature on
public administration.

‘3. It supplied intellectual inputs

for technical assistance
programines.

4. Its mainstream  remained
ethno-centric.

Select the correct answer using the

code given below. :

Code

(@} 1,2 and 3

(b} 2 and 3 only

f¢} 1 and 3 only

{d) 1,2 and 4
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88. Which of the following are
the recommendations of the
2nd Administrative Reforms
Commission?

1. Creation of autonomous
personnel boards on a
statutory basis for assisting
the high-level political
authorities

2. At the higher level—say the
Joint Secretary level—all posts
. should be open for recruitment
from a wide variety of sources
including the open market

3. Constitutional safeguards
provided to civil servants
under Article 311 should be
considered sacrosanct

4. The specialist should not be
required to play sccond fiddle
to the generalist at the top

Select the correct answer using the
code given below :

Code :

fa) 1 and 2 only

fb) 2 and 4 only

fc) 1,2 and 4

(d 1,3 and 4
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89. Which one of the following is not -

correct in respect of the Civil
Service of France?

faj ENA is responsible for
recruitment and training of
higher civil servants

(b} A carcer civil servant cannot
hold a ministerial post

fc) A civil servant is recruited to a
corps and stays in it for the
rest of his career

fd}] A civil servant can go on
deputation with right of
‘reintegration’ into his corps

90. Which of the following matters arc

brought before Staff Councils
attached to each Ministry in the
Central Secretaniat for discussion?

1. Welifare of staff members

2. Working conditions of staff
members

3. Improving  efficiency and
standard of work

4. Salary structure and perks

Select the correct answer using the
code given below :

Code :
@} 1,2, 3 and 4
(b} 2 and 3 only

f¢j 1,2 and 3 only

(d) 1 and 4 only




88. . Prafiriaa § @ e ST g S
£ F-eh Rt §7

1. =-wig Uodfes witmda &
werar & fou wifafie smum w
W FIfE qoSA! F1 TS

2. I WX, 99 & ogw wfm ww, W
wft & gt 9o wigd S IER
% grat /@ weff ¥ fore @@ @ sl

3. fTafae aai & ag=de 311 § wew

qautfis EiEt | e gw\a
B0

4. frdvwg % R, ¥ w F g A
oy sgfiet s srawEs T B
i

= e T g w1 wWh W @ 3w
g

HE :
—{a} el 1 90K 2 ..
(b) aaaaz'aﬂu
) 1,23R4

(d 1,334
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89. frafefen § 4 -1 v, ww H fufa
Ha1 % R § ad T 87

(a)

(b}

()

(d)

ENA 3= fufae dat &t wdl @
yftregor & fore Iwerdt @

T 4O SR A it o
IO A&t L BT &
ww Rifaw da% o wR & fg el

T @ g 7% o AW IR awafy
o 3 H T §

@ﬁ@!ﬁamnﬁrﬁgﬁsﬁ,m
w0 grEe % AR %
Y, S GEHAT B

90. frafafge & @ =R-¥ mme =N
gfvaea § s TWeY | oW '
FEfa & am -t & for wega
fopy s &7

> 0 b -

RIS ALl 6T FoAW0

WIS Fe i Frem

T % HITH T <& § R AT
I GTEAT T T

2 g oH w1 W@ W Ed W
EGLE

& 3

(@)
(b}
(c}
(d)

1,2, 334
daem 233
¥ 1, 2 3R 3
Fad 1 2R 4

* {P.T.O.




91. In which one of the followihg

' approaches to decisiori-making,
the bureaucrat is portrayed in
a self-aggrandizing and budget-
maximizing role?

{a) Rational approach
(b} Participative approach
{¢) Bargaining approach
{d) Public choice approach
92. Which one of the following

definitions of ‘public’ dominates the
literature in public administration?

{a} Institutional definition
{p) Normative definition
(c) Organizational definition

(d} Political definition

93. In advocating ‘normative account-
ability’, Carl Friedrich has argued
in favour of

1. professional standard
2. codes of ethics
3. social values

4. inner conscience-driven ethics

Select the correct answer using the
code given below :

Code :

fa) 1,2, 3 and 4
(b) 2 and 3 only
fc; 1, 2 and 3 only

{dj 1 and 4 only
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94. In the perspective of public

administration reform, which
among the following major ideas
were introduced by the ‘Reinventing
Government’ Phase (1992)?

1. Government should empower
citizens and public employces
alike.

2. Government should be
customer and mission driven.

3. Government should not
anticipate but solve problems.

4. Government should be entre-
preneurial and competitive.

Select the correct answer using the
code given below :

Code :

fat 1,2 and 3
fb) 2 and 4 only
{c/ 1 and 4 only
{d) 1,2 and 4

95. Which of the following is not a part

of the conceptualization scheme
of ‘publicness’ and ‘privateness’
formulated by Benn and Gaus?

fa) Agency—agent acting privately
or publicly

{b) Access—degree of openness
that distinguishes publicness
from privateness

fc) Scope—extent of social space
affected by  organizational
activities

(d} Interest—relating to status of
people who will be better or
worse off for whatever is in
aguestion




91, Fviga ¥ frfafan # ¥ fra o orm #
EiCTe) S i | O 1 G L S
arftremamaRrd <l fire # fafm foer mn
27
(@) TR IUTTH
(b) wRWTf IqTTH
{c) WREHR PN
(d) < Rewea IqTm

92, ‘Aw @ frafafes 7 ¥ TH-A &
R A T F AR WA
Tt 87
(a) HEATTTHR TRATET
(b) oEdie R
(c) TTeReh gRTa
(d) T it

93. ‘Eyi® VEWERE #t FHEET B gL A
el T ok R 2
1. SIEEEE A & e i
2. Ao fagrat < dfganedt ¥ ua &
3. Wi ol % 9e
4, auem =ifed s g % ow
H

e Rr ™ g = oW W A I
gfm

&he

(@ 1,2, 334

(b) Fad 2 3N 3

(c) FaA 1, 2 33

(d) wae 1 3 4
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94, frfifaa Hd, -2 W@ fEw, 9=

v § gur % afem #, A

TR m(lggzjmwmm?
17 R A AT S e st
. aﬁ@-ﬁmmmaﬁm

T

2., maﬁm@ﬁ&'ﬂ?ﬂ%ﬂm

N fir M F w1 oW W oER IW
3

%%

(@) 1,233
(b) FEA23MR4
{c) mlaﬁu

a1 - v

oo 1,234

4

o5. ffaflaa § @ -w, 94 W 7@ T

frefi “dear T e & Fae-
fmfo G & wm oA 27
(@) T—Teh m Al & T w0

B) ST g B T S e
H e & s w8

(¢ Si—wmeTorE TR g0
uwﬁamﬂmfﬁlﬁtwfaﬁﬂ

(d) %a—a‘m st Reeft oft el g
¥ R Jew @ 7= 9, TR Rl
¥ wr=a :




96. Fundamental differences between 98. Which one of the following does

opent and closed meodels of not bclong to Shamsul Haque's

organization have been explained in typology of the dimensions of

terms of perceptions about accountability in the context of

1. the nature of human beings ‘entrepreneurial management?

2. the role and significance of (a) Accountability for what, or the
organization in society standards of accountability

3. the organizational environment (b) Accountability to whom, or the

ts of bili
the technological impact on the agents of accountability

operating organization (¢} How to assume accountability,

or the means of accountability
Select the correct answer using the

code given below : {d) When to ensure accountability,

or the periodicity of account-
Code : ability

{fa} 1,2 and 4 99. In India, an election to constitute a

municipality has to be completed
1, d3 . . .
®) 2 an (a] immediately on completion of

{c) 2 and 3 only its term of five years .

(b) before the expiry of its fixed

{d} 1 and 3 only tenure

(c) before the expiry of a period of
six months from the date of its
dissolution

(d}] None of the above

97. Which of the following are included
as Hygiene factors in Herzberg's
theory of motivation?

1. Salary

2. Supervision 100. Which one of the following about
3. Recognition Article 243G is correct?

4. Interpersonal relationships {a} Panchayats should be enabled

by law to function as an agent
of the State Government

(b} Panchayats should be enabled

Select the correct answer using the
code given below :

Code : by law to function as
institution of self-government
{a) 1,2 and 3 fc) Panchayats will act as the

implementing agencies for

{b) 2 and 4 only centrally sponsored schemes

{c) 1,2 and 4 (dj Gram Panchayats will be
answerable to District
{d} 1 and 4 only Panchayats
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96. 1 & gad Waesw wd faga wioew #
JTUTCE 3Tt <hi =T i T ®

1. WM&l & WHlfd & 9N § yeaem &
YR W

2. WA 8 Ted #i yfie @ wew %
a7 W % MR W

3. wmet® oRaw & @R § yEw %
HTEN W

4, UEA YA A WRITER TwE &
TR | YoIer & YR |

R ot T g w1 W W F@ K
ﬁﬁ'ﬂ:

e

(@) 1,23M4

(b) 1,233

(c) aa 2 3 3

(d) *ad 13K 3

97. fafafiae & @ -7, &t % fimw
frgra 1 @easns F wq # wmiver §7

1. &
2, g

3. 9EEH

4. Fadafes gy

2 Re g w1 oW WA W
gi

C T3

fa 1,23M3

(b} Faa 2 3R 4

fc) 1,234

(d) Fw 1 AR 4
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98. fimfafas &4 & =F-w w, ‘sEl|

Ty F wed #, yoge vk ¥ saEed!

# el & wew-afieo @ @ gon

et 37

() FaERd fFedh e, @1 JaERd &
AT

() wEERE fRuh wfa, a1 sEERd %
TS

(c) SEERE F TEW R, A1 TEEE F
WA

(d) AR Fa ghifda #, a1 s
&I iR

99, Wi § wrwfem F e & fou Fafam

F9 T FEE Bar 87

() THF FEFEH & 9= g © T @
ThTE

(b) EF Pl wiwe 6 amf @ o

¢/ 7% gz f offg | 5: 7
Srafy gum g § uge

(d) <o # @ w1 T

100. Prefafga # @ ¥F-w = sg=h8 243G

& o gdt &7

(@) vamdl = ffy gw, T weR %
e ¥ w1 # &8 F7 & fou
QYR 1 AT 9T

(b) TEEd w AR W, wama fi
e & ®9 § FF $1 & AU 98
AT AT =0fgn

¢ TEEd & ARG ASEeT &
Fiaay afmw & w9 A wE
i

d) W Yumd, fyen duwmdl & ol
Sareg @
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101. The ecarliest roots of Municipal
Administration in India can be
traced to

{fa} the Government of India Act,
1935

(b} Lord Ripon’s Resolution on
Local Self-Government

(c) establishment of the Municipal
Corporatiorn; at Madras

{d) the recommendation of
the Royal! Commission on
Decentralization

102. Which of the following did Luther
Gulick list as factors impacting the
span of control of an officer in an
organization?

{a) Age and location of the
organization, naturec of the
work done and personality of
the supervisor

{b) Span of attention of the
superior, cooperation, diligence
and punctuality of workers

fc) Use of computers, modern
information and communica-
tion techniques

{d} Informal relations and contacts
with subordinates, use
of leaders of informal
organizations within the formal
organization and location of
the organization
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103. Why did Frederick Taylor emphasize

the need for ‘mentai revolution’ as
an essential requisite of scientific
management?

1. It called upon the management
to equally divide the functions
and responsibilities between
managers and workers.

2. Workers were trained,
instructed and required to use
scientifically developed tools,
standardized methods and
practices and Increcase
production to maximum extent.

Select the correct answer using the
code given below :

Code :
fa) 1 only
{b} 2 only -

{c) Both 1 and 2
(d} Neither 1 nor 2

104. Consider the following paragraph

and using the code given below,
identify - the Icadership theories
discussed in it :

These theories of leadership focus
on the actions of leaders, not on their
mental qualities or internal states.
According to these theories, people
can learn to become leaders through
teaching and observation. These
theories of leadership are based
upon the belief that great leaders
are made, not born.

Code :

fa) Participative theories
(b} Behavioural theories
fc) Situational theories

{d} Contingency theories




101. Wd § TR WeeA - ge@ veel i fhad
Tat < Wl &7

(a) i wrER Afufm, 1935

(b) TWHN WuEA W d@ie wm ®
GHeq

{c) WER A TR o i s

(d) faddimm ® do@ wdwm &
et

102, frafaRaa 4 @ frd, aen fe 3 we &
s aftm R - gl w o
e T FRH b T B geftarg fora?

(a) Tiew H o1y wd safeufa, ey @
At wE R owE W e
fehed

(b) afts K ayw fogfa, wgam,
it w1 qftem & grRarer

(c) FraE ® 3Er, yfiw g @
TN Rk

(dy Fdftet & @iy = Ty
T WEH, IAUERE 9T &
el @ e e § IuEm
3R wrea F safeufa
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103. i oW A, AFTF ToY & & JAEF

Ftfem o % w0 3 uefys W A

ATTTEFRAT I FT S fean?

1. 363 YaY W, Yerus " ufrel &
o FR € IAEIREE] w1 §EE
reror 3 <t atvam Y

2. #Afm wfafém, sIRfa fg m @
R nfam o T dwfe o0F @
fowftm Sueoll, wrefiwa wefeal
YT AR F T H INEA 6
oA W a% =TI

T2 fer M wE w1 WM W owd W

gfT

e :

(@) Fad 1

(b) *dqA 2

¢/ 13 23

[d) Ad1sRad2

104. F=feiflan sg=de w fomm fifse @ A=

e T g2 oW W e R e
gt # ggEm S

g & 2 firgra are & FHwEa ®
Fza 8 T F IF wEAE W oW
R Rl @ 37 fagr=t & agan,
T fren @ Bawr g dlge d@ T
#&d 81 9ga ¥ 2 frgra 39 fAem w
sud E FE mem 3 am s & 7 f&
s @d &1

e

(a) TEIRET fagT

(b} HIERTE g

(c) Teufowmen Rgra

(d) i Rigra

. {P.T.O.




105. “Votes of Credit’ provides for making

{a) an exceptional grant which
forms no part of current
service of any financial year

{b) any grant in advance in respect
of estimated expenditure for a
part of any financial year

fc) a grant for meeting an
unexpected demand upon
resources of India

{d) a grant for additional

expenditure upon néw service
not contemplated in the
financial year

106. A Performance Budget is a technique

-

emphasizing most on a scheme

{a} of planning to deploy public
resources to achieve the best

results

(b} for ensuring legislative
financial control

fc) for co-relating relationship

between outputs and inputs

{d) providing justification for all
programmes and activities
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107. The evolution-of the study/discipline

of Public Administration has
witnessed many paradigms. The
politics-administration dichotomy
paradigm identified the locus of
public administration in the

{a) Governments’ bureaucracy

(b} Legislature

(c) Judiciary

{d} Council of Ministers

108. After the Second World War, the

scope of the study and practice of
Public Administration widened
leaps and bounds, because of

1. post-War rehabilitation and
reconstruction of the economy

2. spread of the
Welfare State

concept of

Which of the reasons given above
is/are correct?

{a} 1 only wim
{(b) 2 only
() Both 1 and 2

{d) Neither 1 nor 2




105. ‘TeATgE fhaed wagH wTar 87 107. &% Wed & 7T /fawg w1 faem

(@) & FEUNW IR W e R
aq Y <o ¥ W HK 9 A 2

() Tt foefm ad & o w1 & o

reRferd =99 & gy # &8 afim
SIgeH

fc) WG % WOHE W AweniE qi
9fd & fere argem

(d) Tt 78 a1 & e, < e ad
adfir Tt A e, arfaftm =@m &
foIT argem

106. fors oz s yfafy &, s P=fefas o
B form giem & fore srftenoy =t <t 27

(a) AT Tiomm g FA G FEAAE
waTyat @ w0 e F fo

(b) Taawd facdim frgaor = glifie +=a
% e

() Tridt & et & ofim @t #)
we-grafim w0 F fag

(d) T wdEdl td wRedmE &
A v & B
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gferedt 1 weft B 1 v -wemas e
yET A O WEER @ W fead
TEEl 27

(a) TR H TR
(b) TarammvEa
(¢) =R

(d) whEaiEg

108. Rf Rwgg ¥ v, &% TR ¥

AT T FHaER H 47 g iy |

forega gon ®1 @ RO R

1. QW YAale e sdemasn &
gafiain

2. FAUEH T H GHH H
ﬁm\

I Fe F F AE-T/A v /R
(a) Fad 1
(b) A 2
) 132 8e
(d) q?h_lsa’nqﬁrz
[P.T. 0.




109. The conceptualization of organiza-
tion ‘as a designing process’ may be
regarded as limited, one-sided and
incomplete, because it

1. highlights the formal
structural aspect of the
organization only

2. privileges tasks and functions
over the members of the
organization

3. focuses on the organizational
cfficiency only

Select the correct answer using the
code given below :

Code :

fa) 1 and 2 only
ft) 1 and 3 only
fc} 2 and 3 only
{d) 1, 2 and 3

110. Consider the following statements :

1. The classical model of rational
choice allows all members of
an organization to make
choices,

2. Herbert Simon’s model of
decision-making takes into
account both rational and
non-rational aspects of
organization members.

Which of the statements given
above is/are correct?

faj 1 only

(b) 2 only

{c) Both 1 and 2

(d} Neither 1 nor 2
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111. As per the Constitution (74th

Amendment) Act, Legislatures of
States have not been conferred the
power to empower municipalities
with the responsibility of

{a) preparation of ©plans for
economic development and
social justice

(b} management of law and order

{c/ implementation of schemes as
may be entrusted to them

{dj levy, collection and
appropriation of taxes, duties,
tolls, etc.

112. Which of the following does net find

mention in Philip Selznick’s key
tasks of leadership?

fa] The definition of institutional
mission and role

{b) The institutional generation of
resources

fc) The defence of institutional
integrity

fd] The ordering of the internal
conflict




109. ‘wuieA Whemm & ®W A WA #
gyl difha, wHatE du S

Fgl 5 gl &, HH T8
1. %ae wred & sfiyanie wadens

TEE W Y Siefdl &

2. WBA & Tl W Fedl TF HEt A
fasrnfRramfear s %t &

3. %A USAF TR W H2d W
2

2w T H w oM W FE IW
g

F:

(@) @ 1 3R 2

(b) FaA 1 3R 3

(c) Fae 2 3R 3

(d) 1,233

110. FrafeRes et w = ik .

1. s w99 @ Fnieh Alge e
F ft wewl = faweqt &t s9R Fi

FHAfa 3T B

2, g wema w1 fofm wfed
TEA-Tee & aifhed @ Ar-arfds
T TEggett 1 WA TEan B

IR wAl F | B/ g /R

fa) ¥ 1

(b) HaA 2

(c) 1323

(df a@1smad2
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111, wfaum (7440 genem) sfafam & ogEn,

U=l & furmees! @, Tfamed #
fras sveifie & Wy wwe s@
wifte T < 7§ 7

(@) =nfls fawrm @ amfos A &
forg o semd R e

(b) FT TE AT *H Ta-Y
(c) ¢ Gidt 7E T H wHEEEA

(d) U, JEH, TIRT AT H I,
auev oo fafiEes

112. fefefa # 3 o fefew afas &

g & ged Fiedi § Ig@ T 87

(a) TEINT T U AT i qReT

(b) TETEAT T TEANT YA

(c) WIMBf® qefvan 6l wn

(d) TR HEEl %7 HHET
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114, Which of the

113. Commenting on the relationship

between political development and
administrative development, Fred
Riggs advocated that a strong
bureaucracy is

fa) mostly helpful to political
development

(b) inimical to political
development

{c) somewhat helpful to political
development

(d) neither helpful nor inimical to
political development

following is/are
cortrect regarding the Planning
Commission?

1. Deputy Chairman has always
been a whole-time member.

2. Some Union Cabinet Ministers
have been part-time members.

3. Members of the Planning
Commission enjoy the status
of a Cabinet Minister.

4. Number of whole-time expert
members has varied.

Select the correct answer using the
code given below :

Code :

fa) 2 and 4 only
b} 4 only

fc) 1 and 3

({d) 1,2 and 4
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115. Which of the

following are
the non-divestiture options of
privatization of sick public
enterpriscs in India in the era of
liberalization?

1. Restructuring

2. Contracting out

3. Management buy-out
4

Joint ventures

Select the correct answer using the
code given below :

Code :

{a} 2 and 4 only
() 1 and 2 only
fc) 1,2 and 4

{dj 1,3 and 4

116. Which one of the following is noet

correct regarding the Comptroller
and Auditor General (CAG) of India?

{a) His salary and other service
conditions are determined by
the Parliament

fb) He shall take an oath before
the President

fc) He may also take an oath
before any other person
appointed on behalf of the
President

{d) He can be removed on the
grounds as in case of a Judge
of High Court




113. TeHifas e @yt feem & e
gerdt | Rl g e e 3
Feerd 6, fon werEg @

(a) rwwE: Tt fawm 4 agrh
?

() T faama & g fogdft @
(c) T e # g5 weanft §

{d) Tt faem & fore 7 o wearh
i« € fagsh ®

114. fafafaa & @ SR-a1/8, = @ &
fore =t /87
1. JuTeAe THNN QUishITers HeE W ¢
2. IO 9 AREIESH e HEeE
e @ B

3. I AN % HEWl W Wl
Himved HE & GHEY B B

4, Yiwnas fawg wew B ogEn
EE G RGIR

2 Ru T gE w1 WM W FE IN
TR :

w2

{a) Faet 2 A 4
(b) ¥ 4

fc) 133

(d) 1, 234
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115. IR & g 8, 9iE § Umrs i

I % Feem & fefafes @
#4-7, RfFRm (F-smEafem)
forerea €7

A

wfagr w3

yeg Tilg (e 91$-31se)
qgh M

@ N

2 ffr M F2 &1 W W T IW
EGLE

T :

(@) Haw 2 3 4
(b) &w 1 3R 2
¢/ 1,2 3M 4
{d 1,334

116. & % Frgs @ weeE wWEs (CAG)

% we & Friafas & & *R-w1 @ w8
7@t 87

) 3WH d@4 T I WAl WAl H
Frafor dwg sm e s @

(b) <% TEARG % FH[@ T9F T

(c) % Tgufd =t ok & figw et e
=afts & wag@ it 9y A T @

(d) FaF I urt w Sewfam fem
o whal ¢ oemalt w 3=
IaeE & gadim & Fsefva
e s

[P.T.O.




117. According to Article 78 of the 119. Consider the following statements :
Constitution of India, the Prime

Minister has to furnish information 1. The personnel of the All-India
to the President in respect of Services serve in the Central
Government, Union Territories

1. all decisions of Council of
Ministers relating to admin-
istration of the affairs of the 2. They
Union ’

and States.

bring a  national
perspective to their jobs.
2. submitting for consideration of

Council of Ministers any 3. The marks obtained by them in
matter on which a decision has the Foundational Training are
been taken by a Minister, but not added to the marks
not considered earlicr by the secured in the Combined
Council of Ministers Competitive Examination of

3. submitting proposals for the UPSC.

Legislation as the President

may call for Which of the statements given

4. international treaties above is/are correct? .

Select the correct answer using the

code given below : »
1 onl
Code : (@ only
faj 1,2 and 4 X (b) 2 and 3
(b) 1 and 3 only
fc 2 and 3 only {(¢) 2 only
(d} 1, 2 and 3
{d) 1 and 2

118. In which one among the following
books, the idea of ‘sunk costs’

assumed theoretical significance?
120. Haileybury School is associated with

fa) Aaron Wildavsky’s ‘The Politics

of the Budgetary Process (a) British Indian Army

{b) Herbert Simon’s ‘Administra-

tive Behaviour’ (b) Indian Civil Service
{c) Dwight Waldo’s ‘The
Administrative State’ {c}) British Indian Judiciary

{d) Anthony Downs’ ‘An Economic

Theory of Democracy’ {d) British Indian Press
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117. WA & WU F ’Te8E 78 & IITEN,

gafa & qaEEES g SRR @ S
GG

1. W & FE & TwwEE  wEe
Aiufeg & o4t fafieet & gy d

2. ot fm =, g w fadt w0 9
Tfem = Rm ¥ g we
dbmfteg. ¥ fem wd Ren g,
nfafeg & wua fEm # fag @
& ey o

3.  Uyufa g A S W R s
TR S A W F gy i

4. arqug wiEt o w8

fR Re T g = o W OEE IW
gfr

EEE:

fa) 1, 23R4

(b} FIA 1 3R 3

fc) F=@ 2 2N 3

(d) 1, 23R 3

118, ‘Fmn @Al % famm A FafoRaa 7 @

e = g § dgifw wew wew fem

a7

(a) Qi facsredht f ‘T ufefeew
A6 T q9e) wieg’

) T wEm # whhela
[ERELIY

{c) TaTEE acel dI ‘R tehifieiia we’

(d} T T3 FI U gRAITE A
31T SHE
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119. Frerfafaa st w fomm fifde .

1. sflge wide daedl & wiffs %=
R, Y U9 &3 991 US4t § 4T
T §

2. a9 FET T Uy aies @@ §)

3. 3% g 3vun ufgm # wy
I UPSC @t uyw wfedift qlien &
TN SR & | WSl JE S gl

I0Y & ¥ BH-91/R Fo T B/E7
fa) a1
(b} 233
(c) Fad 2

(d) 132

120. tefi=l wpa frad Trag R7

(o) Tsfon sdm @
(b) g Tl @
fc) Tafewr wrdta =i

(d} Tafem et ¥

[P.T.O.




SPACE FOR ROUGH WORK
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W qF SUH AF TN YRR e @ T HE 9 a9 9% T Gl

A&l ; N-DTQ-K-RWC Titeror gieasr swn

wH qE 0

85941

Tteror gieaenT A
e T

g q e qutish : 300

FII W

. GO IO B % gEA W91E, 3™ 36 gl giiem 6 ygae seva W o T gl w8 T s, wer

T P g3 UB ST AW e A € AR T B, W W W udtwer gieae | age iR

. IW-UFE W Wl T O wdieTor gitae sER A, B, C a1 D guniefy e @ feag fiRm
3. @ vhgn gfem w @y A fw g wEs d mwwt e

sz forgm R wltaw (@ w ot 3o 7 R

7q qlem gieem § 120 wWim (W) Ry w #) weds v R i sl # ow 21 wes gww § W
eget (I0t) R g €1 3t ¥ oF wogw A A o, B e se-wres W difRa S wgd ) AR s
o 5 o B fe g w §, ot 3@ vepm | oifkn W W el wElew e wds s % forg whae
TF T Wgw g R

A 39 Wit TR em @ Ry g sw-ww w @ et e B Sews A fg Ty e QR

. ofl s F e wme £
. 390 wee R o wlym gfemm & fafm sl & Yo IW-wE W ARE e gE R, AR TaW

THU-UF F oy ¥y argREt % agen 3o faEm sw-ws § @ %)

. AT 9 @t Fegal N IW-TEE A W % 98 a1 T % W W hae IW-UAE aTdiers H Hig 3]

MR SR W whew giem & s i Agel )

. &2 FW & fou e wlgw g & o # gem
10.

e 390 foe 2ve

TEAE WvA-TEt § Iefigan g e e Tem Sw % Ry gus far svem)

(i) W ww % fory = AwfRes awm €1 enfigar gw yRE WA F fare R uw e W % e v 3
fma frg o 3R W we-faed (0-33) wwE & ® A FE s

(it) oR I Iuficar w @ 3rfirk S 3@ B, A 3@ T I WA Smam, g Ry e ol 4 8 uw I a9d
B &, R oft 38 9w & fom Iwdwgem @ sd aw = sve faa smom

(iif) =Rt I=figam g0 FE v ' TE R s @ sy sofiear g oW A f S R, & 9w e & o
w3 gue ¢ R smom

W Th IOHRE T8 w0 YRR @ie & 3 HE e a" q% T @l

- Note : English version of the instructions is printed on the front cover of this Booklet.




